TiEEH :

gegy . Ti2IER SRR T AE/KEMEWMIE) T=6cm By : 1.00m?
THRIEH #7 BB B 2= BB 7B Py 5T
SERR T BEKE m? 1.00 620 620
BB m? 1.00 60 60
EEEYMT m? 1.00 60 60
1: 37J</JE/¢‘§I€ m> 0.03| 3500 105
R m? 1.00 250 250
EE‘IH(E’E)JE%&TE%%) =% 1.00 5 5
m° B B &t: 1100 7T
TRREME
gy TRIER  sEERTAKEMEMMIE) T=6cm BEfi : 1.00m?
THIER AR | EBfr | =2 BE | A8 | Wi
SRR B KEE m? 1.00 620 620
BB m? 1.00 60 60
EEEYMT m? 1.00 60 60
ST R m> 0.04| 1250 50
wRIE m? 1.00 150 150
S TR(EUERIER) b2 1.00 10 10
2 m° B B &t 950 T
TREHE
Egl . TRIER  sEERTAKEMEVMIE) T=8cm BEfi : 1.00m’
THRIER A | B | =2 | BE | &8 | M
SR 5 B KT m? 1.00 680 680
BB m? 1.00 70 70
EEEYMT m? 1.00 60 60
TR m> 0.04| 1250 50
WRITE m? 1.00 150 150
EE TR(ETERER) =% 1.00 10 10
2 m° B B &t 1020 T

740

740

810



TiEEH :

egy . Ti2IER SRR T E/KE(EWMIE) T=10cm By : 1.00m?
THRIEH i)z B 2= BB 7B Py 5T
SERR T BEKE m? 1.00[ 1660| 1660
BB m? 1.00 80 80 1800
EEEYMT m? 1.00 60 60
TR m> 0.04| 1250 50
R ITE m? 1.00 150 150
SETH(ETERIER) =% 1.00 10 10

m’° B B 5t 2010 7o




